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Activity - Read, write, order and compare positive and negative numbers of any size
Questions

Read this information about positive and negative numbers.
We start with a quick review of key facts that you have meet before:

Positive numbers are numbers greater than zero.
				Negative numbers are numbers less than zero. 
				Zero is neither positive nor negative.
A number line is often very useful.  

	5	4	3	2	1	0	1	2	3	4	5
Note: You can extend this number line as far as you like/need in either direction.                                                                 
Negative numbers are used in many real-life situations
Temperature: 	Thermometers measure both negative and positive values. For example, the maximum temperature reached in Hull last year was 
32 °C, and the minimum 9 °C.
Altitude: 	Places below sea level (such as the Dead Sea in Israel, and Death Valley in California) have negative values for altitude; places above sea level have positive values for altitude.
Historical records: 	Timelines documenting events often use negative numbers to record events BCE (Before the Common Era).
Scores and results: 	For example, in golf ‘3 below par’ is recorded as 3.
Money: 	If the amount of money in a bank account goes ‘into the red’, then the bank account holder owes the bank money (that is, they are in debt); this amount is shown by a negative value, for example: £234.25.
Activity 1 
The temperature was recorded at the same time each day.
	Day
	Mon
	Tues
	Wed
	Thurs
	Fri
	Sat
	Sun
	Mon
	Tues

	
	21st
	22nd
	23rd
	24th
	25th
	26th
	27th
	28th
	29th

	Temperature (°C)
	3
	0
	1
	5
	3
	2
	1
	2
	3
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Description automatically generated]1.	Which day was the coldest? What was the temperature on that day?
	……………….		……….. °C

2.	How much colder was it on Thursday than on Wednesday? 
	…………….. °C

3.	How much warmer was it on Monday 21st than on Monday 28th? 
	…………….. °C
Opposite numbers, such as 19 and 19, are each the same distance from zero. 
Whenever you add two opposite numbers, the answer will be zero, for example: 19 + 19 = 0

Activity 2 
Add these opposite numbers.
(a)    29 + 29 =		….........		
(b)	17.25 + 17.25 =	….........
(c)	14.9 + 14.9 =		….........
(d)	72 + 72 =		….........
(e) 	1.6 + 1.6 =		….........
Adding with negative numbers
When adding we move to the right along the number line.
For example:  + 7 =	


	5	4	3	2	1	0	1	2	3	4	5
Place your finger on 2 and, as we are adding, jump to the right 7 spaces. The answer is 5.

Here is another example: 4 + 5 =
Place your finger on 4 and, as we are adding, jump to the right 5 spaces. The answer is 1.

Here is yet another example: 5 + 3 =
Place your finger on 5 and, as we are adding, jump to the right 2 spaces. The answer is 2.

Activity 3
Work out:
(a)    + 6 =	….........		
(b)	1 + 5 =	….........
(c)	4 + 9 =	….........
(d)	6 + 10 =	….........
(e) 	5 + 1 =	….........
(f)	9 + 7 =	….........

Adding a negative number has the same effect as subtracting
For example:  			6 + -2 
This is exactly the same as: 	6 - 2			Answer: 4
Here is another example:		9 + -4	 
This is exactly the same as: 	9-4		Answer: 5
Here is yet another example:	-15 + -5	 
This is exactly the same as: 	-15 - 5		Answer:   (see below for explanation)

Subtracting with negative numbers
When subtracting we move to the left along the number line.
For example:  5  8 =	


	5	4	3	2	1	0	1	2	3	4	5
Place your finger on 5 and, as we are subtracting, jump to the left 8 spaces. The answer is  3.

Here is another example: 27 =
Place your finger on  and, as we are subtracting, jump to the left 7 spaces. The answer is  5.

Here is yet another example: 3 2  =
Place your finger on  and, as we are subtracting, jump to the left 2 spaces. The answer is  5.

Here is yet another example15 5 =
Place your finger on 15 and, as we are subtracting, jump to the left 5 spaces. The answer is  20.
Activity 4
Work out:
(a)   2 2 =	….........		
(b)	10 12 =	….........
(c)	4 2 =	….........
(d)	  20 =	….........
(e) 	5 2  =	….........
(f)	9 3 =	….........

Activity 5  
Circle the number that is 6 less than –1.
          
             – 8                      –7                        –6                        –4
Subtracting a negative number has the same effect as adding.
For example:  			7 - -2 	 
This is exactly the same as: 	7 + 2		Answer: 9

Here is another example:		10 - -4 	 
This is exactly the same as: 	10 + 4		Answer: 14
Here is yet another example:	 - -5 	 
This is exactly the same as: 	 + 5		Answer:   

Activity 6: mixed questions.
Work out:
(a) 	8  2 =	….........		
(b)	712 =	….........
(c)	4 2 =	….........
(d)	17 20 =	….........
(e) 	 52  =	….........
(f)	9 3 =	….........

Activity 7
Here is a list of numbers.
−9          −5          −3          −1          0          3          4          6
1.     Write down two numbers from the list that add up to −5.          
	……………..and ……………..
2.     Write down two numbers from the list that have a difference of 13.
	……………..and ……………..





Activity 8
Here is some information about temperatures in Britain in February.
	  
	Minimum temperature
(°C)
	Maximum temperature
(°C)

	Scotland
	–11
	3

	Midlands
	5
	7

	London
	-3
	8


1.     Which of these 3 places in Britain experienced the coldest temperature in February?
……………..
2.     Which of these 3 places in Britain had the smallest range in minimum and maximum temperatures in February?
	……………..

Activity 9
Calculate:
1. 3  + 6
……………..
1. 2  + 5
	……………..
1. 3  9
……………..
1. 7  9 
……………..
Challenge Questions
1.	Emma runs a beauty salon. She is currently overdrawn and her balance now is £500.  She has an agreed overdraft of £1500.
	(An agreed overdraft means a person may go overdrawn up to the agreed overdraft limit without incurring any bank charges or fees.)
(a)	How much will Emma have (in credit) in her account after she deposits £750?
	In two days time, the following will be taken out (debited) from the same bank account:
	Rent
	£650

	Gas
	£150

	Electricity
	£200

	Council tax
	£150

	Staff wages
	£900



(b)	Will there be enough in the account - using her overdraft - to cover the outgoings?
	Show your calculations.
2.	Alison had £265.40 in her bank account on Monday morning. 
	Later that day, she paid for items costing £65.99 and £34.62 by debit card. 
	A direct debit of £135.60 for council tax also went out of the account on that day.
	She also withdrew £50 in cash. 
	(a)	By the end of the day, if nothing was paid into (credited) to the account, how much was Alison overdrawn by?
	(b)	If she pays in a cheque for £50, how much will be in her account?
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